
2 'qn libxz - aygnd ircnl dwibel
d`xd ,miweqtd aiygz ztya dgqep `id dlind m` ,ze`ad milind iabl .1

.dgqep dppi` dlindy gked zxg` .diipa zxcqe diipa ur

(¬((p ∧ q) → (r → p))) (`)

(p → q) ∧ r))) (a)

(p ∧ ¬(q → (p ∨ q))) (b)

)p ∧ q( (c)

)p∧ (d)

miixbeq xzei dlikn zineh` `l A dgqep ly ziynn `yix lky gked (`) .2
zfexgnd jxe` z` |S|-a onqp :zxekfz .')' zexbeq xy`n '(' zegzet
lkle |S1| < |S2| m` S1 zfexgn ly ziynn `yix `id S1 zfexgn .S

.S1[i] = S2[i] :1 ≤ i ≤ |S1|
ziynn `yix dpi` A :miweqtd zxeza A,B ze`gqep izy lkly gked (a)

.B ly

.dzika gqepy dcigi ze`ixw htyn zgkedl mincewd mitirqa ynzyd (b)

:(mipzyn p, q, r) zeibelehe`h odn eli`e zewitq ze`ad ze`gqepdn eli` .3

¬(p → p) (`)

(p → (q → r)) (a)

¬(p ∨ q) ↔ (¬(¬p ∧ ¬q)) (b)

(¬p → ¬q) → ((¬p → q) → q) (c)

:(ze`gqep - A,B, C,D) jxtd e` gked .4

(A ∧B) → C, D → A, D,¬C |= ¬B (`)

(A ∧B) → C |= (A → C) ∨ (B → C) (a)

A → B, B → C |= ¬(¬C ∧A) (b)

A → B |= (C ∧A) → (C ∧B) (c)

.witq weqt `id dibelehe`h lk (d)

.B zewitq zraep A → B-e A zewitqn (e)

.A1 ∧A2... ∧An |= B mn` A1, ..., An |= B (f)


